The two-stit experiment

Discussion of Ahe experiment wrth microscopic - particles  ("elactrons”) -
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Naw suppese we tny do watch +he elections, w an attempt 4o tunderstand
Mo weitd whecference effet.  We place o Light source behind the slids
so we ore able Ho see whether €ach clectron went though  hale | or 2,

Surpdsoh% o wntecference o mow fost, ie, +he lectron, behave just
Uhe clossiol parhcles.

ExpLawnakon: Light is made up of photons,  which carry  momentrom
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The SCaiia-th of Light 1 o photon-electron oollision, which chomges
+he pasihom of am edrm by Jhe amount
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To be able to see whether an ededrom went #:rougl, st | or ~hisrgh 2,
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So Hhe psibons  of +he elections ore pecturbed ):7 amowit @7&( —than
N e scale af Hhe amtedference pottern. As o resudt | Hu, o(,q,stroy.s
re imvesferenc  patiern.



